TET_JULY_2024_1B _ SGT(UM)
Morning Session (06-10-2024)

While preparing teaching learning material, teacher should
keep this in mind

1. Instructions of higher authorities

2 Allotted resources

3. Different types of children in classroom
4 Parents
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These are responsible for teaching learning of children with
Special Needs in school

1. Non-teaching staff
2 Peer group

3. Head Master

4 Parents
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Name of the scheme implementing at present in Education
Department of Andhra Pradesh under auspices of the Govt. of
India.

1. Sarva Shiksha Abhiyan

2 Rashtriya Madhyamik Shiksha Abhiyan
3. Samagra Shiksha

4 Rashtriya Bala Swasthya Karyakram

A N B Ly e oS
ugﬁ,u&fﬁ,/ 1

uwwﬁ,{wng}u 2

I3
4

(//‘L'/g.@”r’ﬂl,k}l/

The percentage of pass marks in examinations for general
students
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1. 20%
2. 10%
3. 30%
4. 35%



When do teacher needs to reinforce the children with special

needs in classroom

1. At every stage
2 Occasionally
3. Sometimes

4 Not needed
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These children are to be motivated very often in classroom

1. Thalassemia

2 Intellectual Disability
3. Haemophilia

4 Muscular Dystrophy
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Rehabilitation Council of India Act - 1992 was implemented
from this day

(%3055 U Rehabilitation Council of India Act — 1992

1. 22.06.1992
2. 22.09.1993
3. 22.07.1992
4. 22.06.1993

Individualized Education Plan is essential to this children

1. Children from backward classes

2. Children from scheduled castes & tribes
3. Children With Special Needs

4. Out of school children
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10.

While teaching about “the structure of human body” to
Children With Special Needs, this teaching learning
materials are to be used.

1. Blackboard

2 Models

3. Flash cards

4. Charts
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Teaching about Agricultural methods are very useful to this
children

1. Intellectual Disability
2 Visual Impairment

3. Cerebral Palsy
4

Parkinson’s Disease
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1.

To understand the climatic conditions, teacher should follow
this teaching method in inclusive classroom

1.
2
3.
4

S

Discussion — Demonstration method
Lecture method
Field trip

Experiment method
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12.

Among the following activities these are conducted by the

teacher to prepare the children for psychomotor readiness
a Cutting papers
b. Drawing

Teaching how to behave in school

Holding a pencil

c only

a,b,cd

c

d

1

2. a, d only
3

4 a, b, d only
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13.

14.

“Mnemonics” strategy is very easy to remember the concepts
for these children

1.
2.
3.

4.

Intellectual Disability
Haemophilia
Autism

Specific Learning Disabilities
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To explain ‘Sound’ topic to class IX students, the appropriate
teaching method is

1.

3

o

Lecture method
Discussion
Experimental
Role play
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15.

16.

Visual Acuity, Visual field are

1.

2
3.
4

Both are different

Both are same

Acuity related only
Field related only
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This symbol is used to identify ¥100 currency note by persons

with blind
1. Triangle
2. Square
3. Circle
4 Rectangle
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17.

18.

A student writes 1974 instead of 1947 very frequently. He may

have

1. Visual Problem

2 Hearing Problem

3. Specific Learning Disabilities
4 Health problems
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School should have this facility for the children with cerebral

palsy
1. Braille signage

2 Speech therapy
3. Ramp with railing
4 Scholarships
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National institute for the empowerment of persons intellectual
disabilities was established in India in this year
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1. 1973
2. 1983
3. 1974
4. 1984

This education policy is being implemented in India for
persons with disabilities

1. Special Education
2 Inclusive Education
3. Integrated Education
4 General Education
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21.

22.

Intelligence quotient of students with specific learning
disability

1.

2
3.
4

Below Average

Average, Above average

Low
High
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This disability is not covered in National Trust Act - 1999

1.

2
3.
4

Autism
Cerebral Palsy
Intellectual Disability

Dwarfism
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23.

24.

“Those who are unable to do their own works, who needs to be
supervised, attention of others are required are called as
persons with intellectual Disabilities”. — 1s derived by

1. Smith

2 Benda

3. Louis Pasteur
4

. Einstein
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To assess Autism, this test is to be administered

ctoed o L3 Qo sT

1. BERA
2. BLOOD
3. ISAA

4. GLAD
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26.

Hellen Keller who is deaf and blind was born in this year
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1970
1870
1880
1980

3" December of every year is observed as

1.

2.
3.
4

Down’s Syndrome Day

Autism Day

International Day for Persons with Disabilities

Braille Day

_‘LWEV//) 3.

Lf(}/ﬁ,{"u"flf
ST
oL sndon 519 I

4.5&{!4

1

2
3
4



27.

28.

Having two or more disabilities is called

1.

2
3.
4

Multiple disability
Autism

Intellectual disability
ADHD
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How can students help peers with special needs

1.

2
3.
4

Ignore needs
Avoid them
Ask how to help
Do nothing

2
3
4

1

ujé/ - JAJU}:,E/[/JBL;«.L‘/}/}UJ#;;@%

S Sl s
st

Sl PSS
S ih

1

B Lo



29.

30.

Students with Attention Deficit Hyperactive Disorder are
related to

1.

2
3.
4

Intellectual Disability
Hearing Impairment
Specific Learning Disabilities
Autism
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To identify the reading disability these tests are to be

administered

1. Unit tests

2. Interview

3. Diagnostic tests
4 Physical tests
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61.

62.

63.

64.

Identify the grammatically correct sentence.

1.

2.
3.
4

She is beautiful then her.
She is beautiful than herself.
She is more beautiful than Gita.

She is beautiful than Gita.

Identify the correct verb form for the sentence:

Krishand Radha___ on their way to the airport.
1. is

2. are

3. have

4. was

Choose the term that refers to the study of celestial bodies:

1.

2.
3.
4

Geology
Astronomy
Astrology
Geography

Choose the correct modal verb to express possibility:

1.

2.
3.
4

can
must
might
should



65.

66.

67.

68.

Choose the correct capitalization for the start of a sentence:

1.

2
3.
4

the dog is barking.
The dog is barking.
the Dog is barking.
The Dog is barking.

The first section of a biographical sketch is typically about:

1.

2
3.
4

Career and achievements
Personal life
Legacy

Introduction

Choose the sentence in the present perfect continuous tense.

1.

2
3.
4

She has lived here for five years.
They are watching a movie.
He has been working on the project for hours.

I will finish my homework soon.

Choose the helping verb used in the future continuous tense.

1.

2
3.
4

has
had

is

will be



69.

70.

71.

72.

“I enjoy reading novels.”
Identify the type of sentence:
1. Imperative

2 Interrogative

3. Declarative
4

Exclamatory

She was tired from working all day.

Choose the correct compound sentence transformation of the
sentence above. (imaginary sentence)

1. She was tired from working all day, and she went to
bed early.

2. She was tired from working all day, as she was asleep.
She was tired from working all day, because she was
exhausted.

4. She was tired from working all day, however, she

stayed awake.

Choose the sentence that contains a relative clause:

1. “She laughed loudly.”

2 “He saw the movie.”

3. “The man who lives next door is very friendly.”
4 “They went to the beach.”

The new policy was announced last week; _ , it has
already made a significant impact.

Choose the option that fits the blank.
1. nevertheless

2 therefore
3. despite
4

similarly



Choose the correct sequence of the words in which they occur
in a dictionary.

1. Shaky
1l. Space

1. Shallow

1v. Small

1. 1, 111, 1v, 1i
2. 1, 11, 111, 1V
3. i, 1, 1v, 1i
4. 1v, 1, i, 1i

Choose the correct spelling of the word.

1. embarasment

2 embarrasment
3. embarassmant
4 embarrassment

Select the example where the indefinite article is used in the
sense of a ‘certain’

1. A lion is fierce.

2 A Mr. Smith is online.

3. An uncle of yours asked about you.
4 A book was taken by the boy.

She finished the race ______ her competitors.
Choose the correct preposition that fits the blank.
1. in back of

2 in front of
3. ahead of
4

contrary to



7.

78.

79.

“How can you possibly imagine he’s a crook? He looks so
ordinary!”

Choose the synonym that means ‘crook’.

1. thief

2 lawman

3. innocent
4 gentleman

A headmaster once told his father that what Einstein chose as a
profession wouldn’t matter, because “he’ll never make a
success at anything.”

Choose the antonym of the word “success”.

1. achievement

2 failure

3. accomplishment
4 triumph

Choose the indirect speech of the following sentence:
He said to me, “What are you doing?”

1. He asked me what am I doing.

2 He asked me what I am doing.

3. He asked me what I was doing.
4

He asked me what was I doing.



80.

81.

82.

Despite the challenges, she decided to

and pursue them with determination.

Choose the phrasal verb that fits the blank.

1.
2
3.
4
Identify the plural noun from the following:
1.

2.
3.
4

hold on to
look out for
turn down

come up with

Physics
Politics
Gymnastics

Police

her dreams

Choose the sentence in which the interjection expresses
excitement.

1.

2
3.
4

Oh no! I forgot my homework.
Ouch! That’s a big question.
Yay! We’re going on vacation.

Hey! Watch out.



83.

84.

Read the following passage carefully.

India’s education system is a blend of ancient wisdom and
modern knowledge. The ancient universities of Nalanda and
Takshashila were renowned centers of learning. Today,
institutions like the Indian Institutes of Technology (IITs) and
Indian Institutes of Management (IIMs) continue to uphold
high standards of education. India’s emphasis on education
drives innovation and research across various fields.

The ancient universities of Nalanda and Takshasila were
known for their

Choose the option that fits the blank.

1. sports facilities

2 medical research

3. centers of learning
4 architectural design

Read the following passage carefully.

India’s education system is a blend of ancient wisdom and
modern knowledge. The ancient universities of Nalanda and
Takshashila were renowned centers of learning. Today,
institutions like the Indian Institutes of Technology (IITs) and
Indian Institutes of Management (IIMs) continue to uphold
high standards of education. India’s emphasis on education
drives innovation and research across various fields.

Identify the modern institutions mentioned in the passage:

1. Nalanda university and Takshashila university

2 Harvard university and MIT

3. Oxford university and Cambridge university

4 Indian Institute of Technology (IITs) and Indian

Institutes of Management (IIMs)



85.

86.

87.

88.

Choose the best option that fits the blank.

Oral communication involves ____ and understanding.
1. writing

2 reading

3. speaking

4 composition

Identify the activity that promotes comprehension and content

mastery through active engagement with the test.

1.

2.
3.
4

Reflective reading
Mechanical reading
Loud reading

Combined reading

Identify the advantage of the Direct Method.

1.

2
3.
4

Focus on literature
Natural learning progression
Clarity in meanings

Controlled vocabulary

Identify an advantage of micro-teaching:

1.

2
3.
4

Focuses on multiple skills at once
Provides immediate and constructive feedback.
Uses 2 hour periods

Required no feedback devices



89.

90.

English is the most popular language on the __

Choose the best option that fits the blank.

1.

2.
3.
4

television
internet
radio

newspapers

Identify a method to enhance the ability to speak English.

1.

2.
3.
4

Writing essays
Reading silently
Translating texts

Using greetings, dialogues and role plays



91.

92.

Anand bought a watch for ¥682. This amount includes 10%Tax
on the marked price. Then the marked price is (in Rs.)

_§_J¢wg 10%4¢Jd,qﬁuu:ﬁ" JJdx 7 /f LUt 26828 4T
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1. 600
2. 610
3. 620
4. 630

The area of Trapezium Shaped field is 240 m®. The distance
between two parallel sides is 15m and the length of one of the
parallel sides is 20m. Then the length of the other parallel side is
(in meters)

y@&y/;guﬁdﬂi’uﬁu’l_%‘_ 240 mz,}'/KULyVJ/‘Jug
J;Wcud;mg/»_;g_ 20m. J)’Ké}‘)’ﬂ}"u{luﬁuhf_ﬁm
(Us L) Bx

1. 5

2. 35
3. 12
4. 300



93.

94.

95.

If ZA and ZC are opposite angles in a parallelogram ABCD
then the statement that always true is

L eUsasii e ZABCD EWoli$ins L1 £C s zA )
PRI RING Y
1. ZLA-4£C=90"

2. LA+ £C =180
3. LA+ £C =360’
4. LA-2£C=("

[9x2y2(3z - 24):|+ [27xy(z - 8)]

1. x(y+2)
2. vz
3. 4
4, Xy

The product of a non - zero whole number and its successor is
always

1. an even number

2 an odd number

3. a prime number

4 a composite number
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96.

97.

98.

When a die is thrown, the probability of getting a number which
1s a multiple of both 2 and 3 is

JQKZ_MJ”K3 8l 2 )ﬁU!;LnJIb{,g/ijgug

1. 1
2. L
3
R
6
4. 0

The smallest number which must be added to 70169305 so as to
obtain a sum which is divisible by 11
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The difference in the measures of a pair of complementary
angles is 24°. Then the angles are

s en 240356 e umid 12

1. 30°, 54°
2. 78°,102°
3. 33°,57°
4. 24°, 48°



99.

100.

101.

102.

The median of first 5 composite numbers is

Kt losboliol S 5 &
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The volume of a cube with side 11cm is (in cm?)

(Utem®)F bt L1 11em

1. 121
2. 1331
3. 12321
4. 11

Which of the following numbers is a prime number?
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103. 1f 23% of 40 is x then 40% of 23 is
€1 40% § 23 Fea x < 23% K40

1 X
, 1
X
3 Ox
4. =
9

104. There are 40 students in a class. Number of girls are 10 more
than the number of boys. Then the ratio of the number of girls to
number of the boys is

il 10 et S Sud D 1o s 40 St UKL
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105. A toy was bought for I72 and sold at I80. The profit percent is
BT s Jlos w315 780 St 712 S ML

1. 11l

9
2. 10
3. 8



106.

107.

108.

The Area of a Rhombus whose diagonals are of
lengths 24cm and 38cm is (in cm?)

(Jﬁcmz)g}?J/KJ’Jc‘L 38cm s/ 24cm J}bgu;/"jidf..,g

1. 345
2. 456
3. 567
4. 912

%5000 is invested at 10% simple interest rate p.a. Interest at the
end of 3 years is (in Rs.)

LU 3 FEGK AT R5000 1000 2 2l 10%

(L u;gou)}fﬂ!)é.ndl 12
1. 1500
2. 150
3. 500
4. 1000

The order of Rotational symmetry of a Regular Hexagon is
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109.

110.

I11.

An electric pole of 18m high casts a shadow of 24m. Under
similar condition the height of a Building that casts a shadow of
length 18m is (in meters)

Vguc,wzid"rw_c‘_}: 24m J#E AL Z 3 Lid 18m
(uﬁuﬁ'ﬁ')dﬁl:d/o/lfu’l_}cn 18m J}bgdl/d::ulf

1. 12
2. 13.5
3. 12.5
4. 13

Number of leap years between 1887 and 1897 are ....
A W dii bz Ll 5L 1897 491 1887

10

L o=
N

11

Number of zeros in 100 crore, 100 million, 100 lakh and 10
Billion respectively

;uﬁu’u,ﬁLu,L@Lguﬁd 10 141100 «* 100 <./ 100

-y
1. 9,8,7,10
2. 7,8,9,11
3. 9,7,10,8
4. 11,7,8,9



112.

113.

114.

A=x"+2x-3,B=2x"—x+4 and C=x>+3x—2then the
value of A—B+C is

< o C=x"+3x-2 » A=x"+2x-3,B=2x"—x+4

BEA-B+C
1. 6x+9
2. 2x* —6x+9
3. 6x-9
4. —2x> —6x-9

For any polyhedron Euler’s formula is

LKyl LusskFES

1. E+F-V=2
2. F-E-V=2
3. E-F+V=2
4. F+V-E=2

The mode of 3,7, 5, 3,7, 5, pis 7 then the value of p is
230p e T #63,7,5,3,7,5,p
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115.

The problems faced by the students in ‘Problem solving

Unable to do the calculations properly

Defect in selecting a proper method

Students loss their self-Discipline

Unable to analyse the problem properly

method’

a.

b.

c.

d.

1. a,b,c
2. b,c,d
3. a,b,d
4. a,c,d
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116.

117.

. 1 .
“Hanshita, a 8" class student proved 107 =100 using the

formula ™" = Ln(a # 0).” This statement belongs to
a

1. Inductivism

2. Deductivism

3. Generalisation

4. Logical Thinking

"”L/JL’:H’“_"=in(a¢0)-~@UL4wugd/f}‘szdt%”
a

4_%0"5 e U107 = ﬁ St
Oy 1

=251 2

ey 3
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“Explaining mathematical methods” related to

1.

2
3.
4

Problem solving
Connection
Communication
Reasoning and proof
< F e 1S ol SUB S LS
S

1

2
Jo3
4
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118.

Observe the following

Ix1=1

11 x11=121

111 x111x111=12321

IT11 x 1111 x 1111 = 1234321

The above model belongs to

1.

2
3.
4

Recreational value
Readiness value
Cultural value

Disciplinary value

Ix1=1

11x11=121

111 x111x111=12321

IT11 x 1111 x 1111 = 1234321
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119.

120.

Total Number of Cuboid - shaped roads in OBB -
Mathematics kit

ASIEUS ALl bz |t Sy - OBB

1 51
2. 55
3. 10
4. 100

Advantages of objective type tests

a. Conducting such exams is easy

b. Speed and style of writing can’t influence
c. enhance language ability

d. It takes less time to write the answers
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1. a,b,d
2. b,c,d
3. a,c,d
4. b,c,a



121. The motion of a needle in a sewing machine is

1. Rectilinear motion only

2. Periodic motion only

3. Circular motion only

4. Both periodic and circular motions
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122. In scientific terminology, these are commonly called as
“fluids”

Liquids and gases
Solids and liquids

1
2
3. Solids and gases
4 Liquids only
e L s e I 15 L
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123. The non-essential requirement for producing fire is

1. Oxygen

2. Fuel

3. Nitrogen

4. Temperature
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124. Match the fibres in SET-A with their uses in SET-B

SET-A SET-B
A. PET P. Carpets
B. Nylon Q. Dresses
C. Rayon R. Bottles
D. Polyester S. Parachute
i iz e L gy Ut SET-B SUs22y Uk SET-A
SET-B SET-A
o P PET A
=l Q gt B
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AR, B-S, C-Q, D-P
A-S, BR, C-P, D-Q
A-S, B-R, C-Q, D-P
A-R, B-S, C-P, D-Q

B b=



125. This is not a greenhouse gas

1.

126. The animals that have sharp cutting and strong grinding teeth

arc

Water vapour
Carbon dioxide
Nitrogen
Methane

A. Tiger B. Zebra

S

A and C
B and D
A and D
B and C

C. Dog
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D. Horse
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127. The irrigation method used to watering for lawns and coffee
plantation is

1.

2.
3.

Sprinkler method

Drip irrigation method
Chain pump method
Dhekli method
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128. Identify the correct statement about pulmonary vein

1.

It carries deoxygenated blood to heart

It carries oxygenated blood to lungs
It carries deoxygenated blood to lungs

It carries oxygenated blood to heart

1

2
3
4
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129. The plant that shows vegetative propagation through stolon is

1. Strawberry
2 Ginger

3. Potato

4 Colacasia
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130. Find the correct statement about ecological pyramid

1. Carnivores are at the base of pyramid

2. Energy trapping is high at the top of pyramid
3. No producers at the top of the pyramid

4. Carnivores produce energy in pyramid
ekl P =Lyt
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131. Choose the correct set of person and the tools used by them

1. Farmer-Pickaxe, Barber-brush, Tailor-Bobbins
2. Farmer-Brush, Barber-Trowel, Tailor-Pickaxe
3. Farmer-Trowel, Barber-Pickaxe, Tailor-Brush
4. Farmer-Bobbins, Barber-Pickaxe, Tailor-Trowel
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132. To avoid traffic disturbances and accidents, everyone must
follow

1. Tips on the Whatsapp
2 Google map
3. Traffic rules
4 Traffic updates on FM
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133.

134.

The headquarter of Alluri Sita Rama Raju district is
1. Araku

2 Parvathipuram
3. Paderu
4 Narsipatnam
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1
2
3
4

The River Penna does not flow through the following district

of Andhra Pradesh
1. Nandhyal

2 YSR Kadapa
3. Satya Sai

4 SPS Nellore
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135. Identify the correct statements in connection with Latitudes

a. Latitudes are farthest at the Equator and meet at the
poles
b. Latitudes never meet with each other

Latitudes are known as Meridians

d. Latitudes are invisible horizontal lines that run parallel

to the Equator
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136. The type of natural vegetation that Kerala State mainly consist

of

1. Montane forest

2. Mangrove forest

3. Tropical evergreen forest
4. Tropical thorny forest
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137. The lowest voter turnout in the Lok Sabha elections was
recorded in this year.
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1. 1951 - 52
2. 1967
3. 1971
4. 1977



138.

139.

One of the following was not a freedom fighter of Andhra
Pradesh

1.

2
3.
4

Ponaka Kanakamma
Duvvuri Subbamma
Konda Venkatappayya
Sarojini Naidu
e Ry p AT 6SThg NS 50
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Identify the planets that do not have the satellites in the
following

1.

2
3.
4

Mercury - Mars
Venus - Uranus
Mercury - Venus

Uranus — Mars
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140. The dynasty of Delhi Sultanate that ruled for the longest

141.

period was
1. Slave dynasty
2 Tughlaq dynasty
3. Lodi dynasty
4 Khilji dynasty
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This is a physical input for Agriculture

1.

2
3.
4

Soil
Machinery
Chemicals

Storage
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142.

143.

The great bath of the Indus valley civilization was found in
this city

1. Lothal
2 Harappa
3. Dholavira
4 Mohenjadaro
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Marcopolo praised this Pandya king’s administration
1. Bhillama

2 Singhana
3. Thailapa
4 Kulasekhara
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144. The first Health Minister of Independent India was
1. John Mathai
2 Jagjivan Ram
3. Baldev Singh
4

Raj Kumari Amrit Kaur
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145. “Knowledge Acquisition is always interdependent. Children
observe better than adults. Understands well. We must
recognize their ability in the creation of knowledge” said by

1. Piaget
2. Cunningham
3. Spears

4. Prof. Yashpal Sharma
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146. Making a final conclusion involving a value-based decision is

147.

called

1.

2.
3.

Test

Examination

Evaluation

Assignment
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The cardboard or a wooden board that has precisely spaced
holes which is used as a teaching learning material is

1.
2.
3.
4

HEg

Hook and loop board
Peg board

White board
Magnetic board
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148. “A project is a wholehearted purposeful activity proceeding in
a social environment” defined by

1. Kilpatrick

2. Stevenson
3. Billard
4 Binning and Binning
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149.

150.

Identify the guiding principles followed in the design of Social

Science texts

An inclusive method

b. Continuous and Comprehensive Evaluation
c. Connecting the curriculum to real life experiences
e. Lack of connection with other subjects
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1. a,c,d
2. a,b,c
3. b,c,d
4. a,b,cd

.a

b

This aspect does not come under the Transdisciplinary

Approach

1. Using technology

2 Deep study between different subjects
3. Facilitating student research
4

Separation of various subjects.
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